


let mut v: Vec<i32> = vec![1,2,3];
let 1i: &i32 = &vi1];
v.push(4);
v.push(5);

println! (“{}"”, 1i);



let mut v: Vec<i32> = vec!I[1,2,3];
let i: &i32 = &vI[1];

v.push(4);

v.push(5);

printin! (“{}", 1i);

NOT ALLOWED



let mut v: Vec<i32> = vec!I[1,2,3];
let i: &i32 = &vI[1];

v.push(4);

v.push(5);

printin! (“{}", 1i);

NOT ALLOWED

But why?



let mut v: Vec<i32> = vec![1,2,3];
let 1i: &i32 = &vi1];
v.push(4);
v.push(5);

println! (“{}"”, 1i);



let mut v: Vec<i32> = vec!I[1,2,3];
let i: &i32 = &vI[1];

v.push(4);

v.push(5);

printin! (“{}", 1i);

Capacity: 4

Length: 3
Contents:
v[0] = 1
v[1] =2
v[2] =3

UNDEFINED



let mut v: Vec<i32> = vec!I[1,2,3];
let i: &i32 = &vI[1];

v.push(4);

v.push(5);

printin! (“{}", 1i);

Capacity: 4

Length: 3
Contents:
v[0] = 1
v[1] =2
v[2] =3

UNDEFINED



let mut v: Vec<i32> = vec!I[1,2,3];
let 1: &132 = &vIil1];

v.push(4);

v.push(5);

println! (“{}", 1i);

Capacity: 4

Length:

Contents:




let mut v: Vec<i32> = vec!I[1,2,3];

let 1: &132 = &vI1];
v.push(4);
v.push(5);

println! (“{}", 1i);

Capacity: 4

Length:

Contents:

UNDEFINED

UNDEFINED
UNDEFINED

UNDEFINED

UNDEFINED
UNDEFINED

UNDEFINED
UNDEFINED




let mut v: Vec<i32> = vec!I[1,2,3];

let i: &i32 = &v[1];

v.push(4);
v.push(5);
printin! (“{}"”, 1i);

Capacity: 4

Length:

Contents:

v[0] = 1
v[1] =2
v[2] =
V[3] =

v[4] =
UNDEFINED

UNDEFINED
UNDEFINED




let mut v: Vec<i32> = vec![1,2,3];
let 1i: &i32 = &vi1];

v.push(4);

v.push(5);

println!(“{}"”, 1); v[0] = 1

Capacity:

vi1] =2
Length: v[2] =

Contents: V[S] _

v[4] =
UNDEFINED

UNDEFINED
UNDEFINED




let mut v: Vec<i32> = vec!I[1,2,3];

let i: &i32 = &v[1];

v.push(4);
v.push(5);
printin! (“{}"”, 1i);

Capacity:

Length:

Contents:

UNDEFINED

UNDEFINED
UNDEFINED

UNDEFINED

v[0] = 1
v[1] =2
v[2] =
V[3] =

v[4] =
UNDEFINED

UNDEFINED
UNDEFINED




let mut v: Vec<i32> = vec!I[1,2,3];

let 1: &132
v.push(4);
v.push(5);
printin! (“{}”,

= &vI[1];

1);

Capacity:

UNDEFINED
UNDEFINED 1

UNDEFINED
UNDEFINED

Length:

Contents:

USE
AFTER
FREE

v[0] = 1
v[1] =2
v[2] =
V[3] =

v[4] =
UNDEFINED

UNDEFINED
UNDEFINED




